Thanksgiving Hidato

THE RULES OF THIS HIDATO-LIKE PUZZLE ARE AS SIMPLE AS ADDICTIVE.

YOU NEED TO FILL ALL THE EMPTY CELLS IN THE GRID SO THAT THE CELLS
FORM A CONSECUTIVE CHAIN OF NUMBERS FROM 1 TO 36. YOU ARE ALLOWED
TO CONNECT THE NUMBERS HORIZONTALLY, VERTICALLY OR DIAGONALLY.
BOTH THE START AND HIGHEST NUMBERS ARE PRINTED AS CIRCLES.

28 (29 (1) 12 \ |
2712613 |2 13 /"|\\\

)
/ |
35 |33 31
50918 OM/O)
/
ﬁ

21 1816 | 14
2312019 |17

1716 |[(D)13 2622 18] 17

20|18 2 [ 11 27 1915

19 23|10 28| 24|(1) 14

32(33|26(25] 4| 9 30 302 1113

31|27 5 32 4 |10
35071 6 33135] 5 g

copyright: www.mathinenglish.com



Answers

THE RULES OF THIS HIDATO-LIKE PUZZLE ARE AS SIMPLE AS ADDICTIVE.

YOU NEED TO FILL ALL THE EMPTY CELLS IN THE GRID SO THAT THE CELLS
FORM A CONSECUTIVE CHAIN OF NUMBERS FROM 1 TO 36. YOU ARE ALLOWED
TO CONNECT THE NUMBERS HORIZONTALLY, VERTICALLY OR DIAGONALLY.
BOTH THE START AND HIGHEST NUMBERS ARE PRINTED AS CIRCLES.
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